**NOTE:  The METRIC problems are in DARK BLUE and the TEMPERATURE
       problems are in RED.
I.
 METRIC
1.
Find the difference between 1074.6 meters and 926.38 meters.

2.
One-inch equals 2.54 centimeters.  How many centimeters long is a 12-inch 

[image: image1.wmf][image: image2.wmf]ruler?

A.   17.54cm.

B.   2.66cm.

C.   34.8cm.

D.   30.48cm.

E.   NH

3. 6200 meters is how many kilometers? 



A.  62 km.
B.   62000 km.
C. 6.2 km.

 D. 0.62 km.

E. NH

[image: image3.wmf]4.      Which of the measurements below best describes the length of this dove?

          A.  8 mm.
B.  8 cm.
C.  8 m.
D.  8 km.
E.  NH

5.
5800 meters is equal to how many millimeters?

A.  5,800,000 meters 

B.  5.800 meters

C.  580,000 meters D.  58.00 meters

E.  NH

6.
David drove to the supermarket on five different occasions.  On each occasion he went a different way to the supermarket.  Which number below shows the greatest distance?

Use the table below to answer questions 6 & 7.  
















7.
Which number in the table on problem number 6 has the second largest 

 value?

A. 1.80 km

B. 1.080 km

C. 1.008 km

D. 1.083 km
E. NH

8. A softball bat measured 2 meters long.  How long is the bat in centimeters? 

A.  .02cm.

B.  .002cm.

C.   200cm.

D.  .020cm.

E.  NH

9. If a dog’s bone is 2.7 Hectometers long, how many decimeters would it be?

A.  270dm.

B. 2,700dm.

C. .027dm.

D. .27dm


E.  NH

10. My father drives 23.5km to work on Monday, 34.89km on Tuesday, on Wednesday 159.24km and 69.4km on Thursday.  On Friday’s he takes the day off.  How many kilometers does he drive for the week?

A.   23,000km.
B.   .324km.

C.   287.03km.
D.   230.4km.


E.   NH

11.
3 liters = ? milliliters


A.  30


B.   300

C.   3000

D.   30,000


E. NH

12.
Choose the number that will make the number sentence true.




2300 liters = 

     kiloliters

            A.  2,300,000

B.    230

C.   23


D.   2.3

E.  NH

13. A two-liter bottle of Sprite is equal to how many Hectoliters.

A.   20


B.   0.02

C.   .002

D.   .020

E.   NH

14. Billy is having a party; the punch consists of 3 liters of apricot nectar, 4 liters of pineapple juice, 2.5 liters of kool aid and 1.8 liter of pina colada.  How many liters does the punch contain? 


A.   13           
  
B.  12.4        
  
C.   26

          
D.  11.3


E.   NH

15. It takes 10 deciliters of gasoline for Mr. Moore to cut his lawn.  He only has 

3.4 deciliters of gasoline in his lawn mower.  How much more gasoline does

he need to complete the job?


A. 7.6


B. 3.5 


C. 6.8


D. 6.6

E.  NH

16. The pool holds 128 liters of water for people to swim.  During the time it 

was measured, there was only 23.79 liters of water in the pool.  How many more liters does the pool need in order to take a swim?

A.   100.4 

B.   35.3 

C.   104.21

D.   201.5

E.   NH

17.
Eight kilograms is equal to how many grams?


A.   1000

B.   800

C.   80


D.   8000
E.   NH

18.
3800 grams is how many kilograms?

A.  38 kg.

B.   3800 kg.

C.  3.8 kg.

 D.  0.38 kg.

E.  NH

19.
4.25 kilograms is equal to how many grams?

A.  425g.

B.  4250g.

C.  .00425g.

D.   42500g.

E.  NH

II.
TEMPERATURE

20. What is the freezing point of water in degrees Celsius?


A.   32(C.

B.   15(C.

C.   0(C.

D.   26(C.
E.  NH

21. The boiling point for water is what in degrees Celsius?


A.   212(

B.   100(

C.   235(

D.   114(
E.   NH

22. If you left a glass of water outside in the winter, at what temperature would it 

freeze?


A. 32(F.

B. 34(F.

C. 1(C.

D. 3(C.
E.  NH

23.
What would the temperature be in Celsius if the temperature today is 1400 Fahrenheit?     Formula to change from Fahrenheit to Celsius  5/9 (F – 32 )

24.
What would the temperature be in Fahrenheit  if the temperature today is 800 Celsius?    Formula to change from Celsius to Fahrenheit  9/5C + 32

25.  
At sunrise the temperature was 540F.  At 1:00 pm it was 35 degrees warmer.  Then at 9:00 pm it was 19 degrees cooler.  What was the temperature at 

9:00 pm?


A.  600
F
B.  700
F
C.  890
F
D.  380
F
E.  NH

METRIC ANSWER SHEET 
1.      Find the difference between 1074.6 meters and 926.38 meters.

    Means to subtract   1074.6 – 926.38 = 148.22


Answer =  148.22

2.
One-inch equals 2.54 centimeters.  How many centimeters long is a 12-inch 

ruler?




                     2.54  centimeters


                  x    12  inches

Therefore, 30.48  centimeters is equal to a twelve inch ruler


A.  17.54 cm

B.  2.66 cm

C.  34.8 cm

D.  30.48 cm
E.   NH

3.
6200 meters is how many kilometers? 



A. 
62 kilometers


B.
 62000 kilometers




C. 
6.2 kilometers


D. 
0.62 kilometers

E.  NH

4.       Which of the measurements below best describes the length of this dove?

         

                                            
     8 centimeters

          
A.   8 millimeters

B.   8 centimeters

     C.  8  meter

D.   8  kilometers

E.   NH

5.     
 5800 meters is equal to how many millimeters?

                1 meter = 1000 millimeters

                  Therefore, all you have to do is move the decimal 3 places to the right

A.  5,800,000 meters 

B.  5.800 meters

C.  580,000 meters 

D.  58.00 meters

E.  NH

6. 
David drove to the supermarket on five different occasions.  On each occasion he went a different way to the supermarket.  Which number below shows the greatest distance?

Use the table below to answer questions 6 and 7.  










  Step 1  Place zeros to the








    right to have the same








    amount of numbers.








            Therefore, this is the 








             number with the








             greatest distance

7. 
Which number in the table on problem number 6 has the second largest 

value?

A.  1.80 km

B.  1.080 km

C.  1.008 km

D.  1.083 km

E.  NH

8.       A softball bat measured 2 meters long.  How long is the bat in centimeters? 

A.  .02cm.

B.  .002cm.

C. 200cm.

D.  .020cm.


E.   NH


9.       If a dog’s bone is 2.7 Hectometers long, how many decimeters would it be?

A.  270dm.

B.  2,700dm.

C.  .027dm.

D.  .27dm

E.  NH

10.       My father drives 23.5Km to work on Monday, 34.89Km on Tuesday and           

            Wednesday, on Thursday and Friday, he drives to West Palm Beach which is 

            159.24Km and then he drives to Dania, which is 69.4Km respectively.  How

            many Kilometers does he drive for the week?

A.  23,000km.

B. .324km.

C. 287.03km.

D. 230.4km.

E.  NH

11.
3 liters =? milliliters


1 liter = 1000 milliliters


A.  30


B.  300


C.  3000

D.  30,00

12.
Choose the number that will make the number sentence true.





2300 liters = 

     Kiloliters


1 kiloliter = 1000 liters

              Therefore, all you have to do is move the decimal 3 places to the left

          
A.  2,300,000

B.  230


C.  23

D.  2.3

13.       A two-liter bottle of Sprite is equal to how many hectoliters.

A. 20


B. 0.02


C. .002

D. .020

14.       Billy is having a party; the punch consists of 3 liters of apricot 

nectar, 4 liters of pineapple juice, 2.5 liters of kool aid  and  1.8 liter of pina colada.  How many liters does the punch contain? 

A. 13


B. 12.4


C. 26   

D. 11.3
15.       It takes 10 deciliters of gasoline for Mr. Moore to cut his lawn.  He only has 

3.4 deciliters of gasoline in his lawn mower.  How much more gasoline does

he need to complete the job?


A. 7.6


B. 3.5 


C. 6.8

D. 6.6
16.      The pool holds 128 liters of water for people to swim.  During the time it 

was measured, there was only 23.79 liters of water in the pool.  How many more liters does the pool need in order to fill the pool?

A. 100.4 

B. 35.3 

C. 104.21
D. 201.5

17.
Eight kilograms is equal to how many grams?   1 kilogram = 1000 grams



8 X 1000 = 8000


A.  1000

B.  800


C.  80

D.  8000
18.
3800 grams is how many kilograms?        (Move decimal three places to left)


A.  38 kilograms      B.  3800 kilograms   C.  3.8 kilograms   D.  0.38 kilogr
19.
4.25 kilograms is equal to how many grams?

                 1 kilogram = 1000 grams

     
Therefore, all you have to do is move the decimal 3 places to the right

A.  425 grams

B.  4250 grams 
C.  .00425 grams   


D.  42500 grams

20. 
What is the freezing point of water in degrees Celsius?


A. 32(C.

B. 15(C.

C. 0(C.

D. 26(C.

21.
The boiling point for water is what in degrees Celsius?


A. 212(

B. 100(

C. 235(

D. 114(
22.      If you left a glass of water outside in the winter, at what temperature would   

            it freeze?


 A. 32(F.

B. 34(F.

C. 1(C.

D. 3(C.

23.
What would the temperature be in Celsius if the temperature today is 1400 Fahrenheit?     Formula to change from Fahrenheit to Celsius is  5/9 (F – 32 )


Step 1:
  140 – 32 = 108
Step 2:  5/9 x 108/1 = 60


Therefore, the answer is 600 Celsius

24.
What would the temperature be in Fahrenheit  if the temperature today is 800 Celsius?    Formula to change from Celsius to Fahrenheit is 9/5 C - 32


Step 1:
  9/5 x 80/1 = 144
Step 2:  144 + 32 = 176


Therefore, the answer is 1760 Fahrenheit

25.  
At sunrise the temperature was 540F.  At 1:00 pm it was 35 degrees warmer.  Then at 9:00 pm it was 19 degrees cooler.   What was the temperature at 

9:00 pm?


A.  600
F
B.  700
F
C.  890
F
D.  380
F
E.  NH


Step 1:
  Add 54 + 35 = 89


Step 2:  Subtract 19 from 89 = 70

Answer is 700F
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